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1. 9% @RI 99 e H gRdd T JA-TMB 5eT & HUR W 39 f@a
WIeT & T IADT fhar o= g A 9 H el yfafSe &r & a1 e &
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You have been called for the written test based on the\inine data furnished by you in the web application. If you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature

will be rejected.

2. 9T gl # foliete S 3uRUfT & & vl gia-Rec/akiue W geani T Tk
You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. URA-UF 60 AT ¥ IFd WRA-YRETH & FT H B
The Question paper is in the form of Question Booklet with 60 questions.

4. 9T F I Get & AT HelT INTAAR Sea-Gfeaar &7 Sreah|
A separate OMR answer sheet will be provided for answering the Questions.

5. 3IW el #ld H Alad yeA-gRder Aol wg (wEyss), MR sear _gREde 9
fAfese rae W formgen =nfzu)

Question booklet series code (A/BIC/D/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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10.

1.

12.

13.

14.

15.

JRF-GIETRT H HTIHT A TAT IHelhdAis Fer o |

Enter your Name and Roll Number correctly in the question booklet.

NTAAR IeR-YReasr 7 Tl yfafear /el T & afer uge 9 T & 67 o
arfgul

All entries in the OMR answer sheet should be with blue/black ball point pen only.

we g PeiRa @edar & IR W, R 10T 9R SRt F @ s s &

gi9ft, [9=197 & Fad v 3TeTer §7 @ e g

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

3TN, SccR-GRdAT H QU 310 368l & AR, Aell/Fel TEr & §fd 9ge 9 4
AR SecR-GRcTehT & HafRa Jiaer 1 3ifFa FF TE 3R & 99T FET B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

TH YT & [T 3% Scal I AT ST e 3cast ¥ BT S 30 a8 R
S|

Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.

e gle Toeare 8fd & el FIe. PIelholcy, HES Blef U He FAFl ol
ST, ISH-GEch, Ale e ol B AT HAAL & Sest]

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will-not be allowed inside
the written test hall.

gl qol gt o, NUANR IcR-GRGH H I F ded [REa § R 3k #qa
HNUAINR FecR-Yiecenr AlieTes ol diY g1 cudl ufd A9 a9 W)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the
original OMR answer sheet to the Invigilator and retain the duplicate copy with you.

TRA-GRAHT 8T 3T U @ FHA o

The question booklet can be retained by the candidate.

GAET & JUH U F SR ARG T GU&T glel SIS I AT 76T 8

Candidates are not permitted to leave the examination hall during the first hour of the examination.

et @ AR 3 eSS S & v & fa oler e
el Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.
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dHAATsT_8l/Technician B (GIHI0T_ A+ HH/Instrument Mechanic)

The gravity controlled instruments have scales which are not uniform but are crowded because

(a) HJeld AR AGHIT HR ¥ 7S §l/Balance weight is more than the control weight
(b) ERT F&T FIOT &H m@ﬁﬁ % I/Current is proportional to the deflecting angle
(c) ©RT sin@ & 3-11?[3?[%3—7 g 1/Current is proportional to sin 8

(d) T&IF H@FF—[ I Uh&T el g l/Balance weight itself is not uniform

el 97— % HAYA &7 TF SIHIT ¥

The prismatic compass is an instrument for measuring

(a) TIHOT P F T F TC/The foot of the perpendicular in survey work
(b) 3IIATHR AT/ rectangular offsets

(c) Fdetor FT F Wﬁ/angles in survey works

(d) o7 U & sii/none of these

fIsar Rom & I9 el 9o & o &7 ab9wey, AR AT 0 F A, — ¥
The area of a sector of circle with radius R cm, if the angle 6 is

(@) 6/360 x NR? (b) 6/180 x NR® ()  6/360x MR (d) 0/360 x 2MR
HRETEE ot F WUROE —— @ geAEr S ¥

Orifice plate are usually made of

(@) SR STqTc/stainless steel (b)  didl/copper

(c) velfEca/plastic (d) a7 TH Y STgi/none of these

fREr 3 &1 9RAT 320m ¥ I uRd 5:3. & Iqud F ¥ o 3@ A F aEwd
— ¥l

Perimeter of a rectangle is 320 m, if the sides are in the ratio of 5:3. Area of the rectangle is
(@ 600 m? (b) 6000 m? (c) 1600 m’ (d) 4000 m?
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10.

11.

fauTds aTIHITAl #7399 —— & v R o gehar &
Bimetallic thermometers may be used for:
(a) ERT TUT HrETerdl & A & dAIAT F gRT we
Indicating air temperature in home and offices
(b) TIEGd TSB! HT FAG AT AZH ATIHGA B AIAT e
Controlling temperatures by making or breaking electrical contacts
() Trdl s & 3 & TrIA Fr 'Hﬁ?f EIw??l';"lndiczzttmg temperatures inside a duct

(d) 39derc HMAL of the above

IR B v mﬁr@‘h’ﬁgwaﬁwwm——%l

Volume of cone with base radius ‘r* and height ‘h’ is

(a Nrth (b) 1/12nr*h (c) 4/3nr’h (d 1/30ch
TR SedTgATI----/Optical pyro meters

(a) TR $iTaes Saoel 39 & dIIAT & AT HT Asha §/Can measure the temperature
of any clean burning gas.

(b) 80°c ¥ T+ ATIHA FT AYF FT Fhd &/Can measure the temperature down to 80°¢

(c) erdl axd & dTIHTA ST AT T Thd 8/Can monitor the temperature of moving
object

(d 3FT H I ﬁ'é #Aei/None of the above

qred ‘a’ dTeT TR Fd FT g 8T%er ---- &/Surface area of a cube with side “a’ is
(a) 6a’ (b) 6a (c) @ (d) 3a°

drodegd AT F ARG & [T §7 —— 1 3TN A Wb §1/To calibrate thermocouples,

we can use
() faeNfsd ga Fsistirred liquid baths (b) cd urd Wstheated metal blocks

(c) el Fs/fluidized baths (d) 3T A ¥ FE/any of the above

&9 1 g AT fASTT F e @I SI9 §F B FR AGAT § oAl WST T H LA &
gl ATl

When it is desired to measure liquid level with liquid under pressure or vacuum, the sight glass
must be connected to the tank

(a) >YY/at the top

(b) T/ at the bottom

(c) FUR =T Sl FTUTAT Yat the top as well as at the bottom
(d) ﬁﬂﬁ H UH T ST61/ none of the above
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12.

13.

14.

15.

16.

1%

3/5 @I gfaera & 9Rafdd X I/Convert 3/5 to percentage
@) 40% ®)  60% ©  80% )  90%
geredfas a9 TFR TR gIH Uh —— F

Hydrostatic pressure type level indicator is a

(a) &g TAX AYSA H JcgaT Af/Direct method of liquid level measurement
(b) T T AT Fr 39cger —B¥Indirect method of liquid level measurement
(c) '55[2;7:!'?[ #H TF 4T FE1/None of the above

(d) 39GFT ALl of the above

550 T 16% ————— §1/16% of 550 is

(a) 98 (b) 68 (c) 88 (d 48
U iR @ fawor 144 o & @R ORE ———— |

Side of a square whose diagonal is 144 m

(2) 100 (b) 200 ) 90 d 150

60 V. °S1E & TH &3 F HAG TS F U IfRa Rear Srar ¥ v oard 10 . ¥

FT AR ———— §
A rod of length 60 cm is bent to form a rectangle. One side is 10 cm. The other side is
(a 15cm (b) 20cm (¢) 25cm (d 30cm

fAffor ¥R dqes # o9 i g&t @ o @ ¥ av TaEe #F uq Rfdwor & o
el

In the radiation level detector, when the tank is full with liquids, the amount of radiation received at
the detector is

(2) fafesor ST @ dgEe & 9 & g7 & R & DY Iewios
Directly proportional to the amount of liquid between the radiation source and the detector

(b) Tafeer dIq aur Tqas & &9 & g9 F TR & gfadAd: s

Inversely proportional to the amount of liquid between the radiation source and the detector

(c) &d &I AMT 9T HATTAT/Independent of the amount of liquid
(d) 3'C|'{17:FH H TF T ASI/None of the above
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18.

18

20.

21.

22,

23.

24.

1 #ex digs aar 1 . Aas & WiRas e (FeedT 2.7gmice) AR ——
Weight of aluminum sheet (density 2.7gm/cc) of size 1 meter width and 1mm thickness is
(a) 27kg (b) 2.7kg (c) 027kg (d 1kg

TR TR gah &1 e dq & ycafes gafeg @ar &, w6y & — &y

o gl
The performance of capacitance level indicator is severely affected by dirt, because they change the

(a) T & &/Area of plate

(b) @ Teiel & o dr gli/distance between two plates
(c) SE-Zelldgehe F2H/die-electric constants

(d) 3'CI1’_fI3'q"?I' H TF 4T ii/none of the above

gred 2x ¥ Ih Tsh g &l Hqdd ——— &1/Volume of a cube of side 2x is
(@ 12x (b) 6% () 24x° @ 8x
g A —— F T H qRAT FFAr STaT §1/Pressure is defined as :-

(a) wia TI@E 819 T del/Force per unit area

(b) AFF

(c) FxA

(d) 39dFd H uw o FAfi/none of the above

6 §.AL, 8 AL Tur 10 T.&A. F R o &7 e —— ¥

Area of a triangle having side 6 cm, 8 cm and 10 cm is
(@) 48cm’ (®) 60 cm? ()  30cm? (d) 24cm’

e o odiferst &1 3w —— & forw fvar mar &

Dead weight tester is used for

(a) TATSHT AR FT TUETUT F1/Testing dead weights

(b) ufshaT gI&T T FAYT FUTATAT {A/Measuring process pressures accurately
(c) 39 & 3cUee F{l/Producing high pressures

(d) I 39U T 372AThed Fet/Calibrating pressure instruments

TH TR A — &F &7 & qe™T a1 sar &1/0ne torr is defined as
(a) U% mm Hg/one mm Hg (b) TF ST Hglone inch Hg
(c) U® UCAITeHA/one atmosphere (d) UF TRaTarEHe/one kilopascal
6 12631IM



25.

26.

27.

28.

29.

30.

31

T cos x =4/5,% af tanx F qed ——— BU/If cos x = 4/5, the value of tan x is
@ 3/4 ®) 43 © 25 @ 273

T AT oA A Uh PR T —

A thermo couple gauge is one type of
(a) 3MIAIHIOT Atfionization gauge

(b) FSHRT dATelehall dS/thermal conductivity gauge
(c) HAFeIS Ml/meleod gauge

(d) 3G F va & Fi/none of these

agHseNT o F Hf Pl am ot e §
The full range from atmospheric pressure to a perfect vacuum is
(a) 14.7psi (b) 0.40 torr (¢) 7.14psi (d) 0.01-0.40 torr

T 3TIART H JgFT TqIC ——— g B
Diaphragms used in pressure applications are

(@) &op/light (b) IR H BIT/small in size
(c) Srel/slack (d) gfETdR/bimetallic

Ifg 12b=1/38 arb & AT FT §2/1Is 1/2b = 1/3. What is the value of b?
@ 25 ®) 2 © 17 @ 15

T el & Arae 8 fFe weR @ S wEfaw i

What type of manometer is best for measuring low pressures?

(a) dellwell (b)  =d/inclined
(¢) I-Tgd/u- tube @ a@’-@“{ﬁ/multip]e tube

T FR & A g §, S Ifdeme 78 =S u@F aBW I oee FOT F gadT FEard
Rﬁ.ﬁ.ﬁéwﬁﬁ%,ﬁ%qmmﬂﬁwmmgﬁm%—%l

A car has two wipers, which does not overlap. Each wiper has a blade of length R cm, sweeping
through an angle of 6°. The total area cleared in each sweep of blade is:

(@) 2{(8/360) x MR> (b)  6/360 x MR?
() 2{(6/360) x 2MR} (d)  2{(6/360) x 2NR?}
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32, PR anT e AT ¥ UK @ deeT w2

33.

34.

35.

36.

37.

What are the basic pressure elements in a “mercury less” manometer?
(a) F-TRFH/U-type

(b) HTSHeI/syphons

(c) didar ar 19/ bellows or diaphragms

(@) FRR Cgd/capillary tubes

fAafAT wg3er & aF aral & @ F1 3ra@or fhder §2
What is the included angle between two sides of a regular hexagon?

(@ 75° ®) 120°
(c) 145° (d) &I us 8T Fdi/none of these

eI I & FT ¥ R S B

LVDT is used for the measurement of

(a) Ta¥ua/displacement (b)  F1fA/motion

(c) dell/force (d) cId/pressure
Qﬁmmﬁ'—m—ﬁmﬁugw T Srar B

Revolution counter is used for the measurement of:

(2) TIEATI=/Displacement (b)  drel/speed

(c) a0l acceleration (d) &I U 9T Adi/none of these

aifas gor Al dr Fgmdar —— )

Pneumatic force meter has an accuracy of :

(a) =12% (b)  £3/4%

() =1/4% (d) B'Q'égﬁ?r H UF # 578V none of the above

X>-5x+4=0F x @ Hed/The value of x in X—5x+4=0
(@ 1 (b) 4
(c) —4 (d) T JUr & ai/both (a) & (b)
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38.

39,

40.

41.

42.

43.

T AR AGHIEHT — T @ & 3TH0T &

A simple microscope is an instrument for viewing:

ONEE] qfr CEE PG| EI"\—_c‘-:Bﬁ/Objects situated at large distances

(b) ar v gonforat & gad fAdhe aEg3il/Close objects with two optical systems
() Thel GHIMT Jomell F el folehe FE31/Close objects with a single optical system
(d) 3aH TH T FE/None of these

4/5 F SAFST FH IRGTad FLI/Convert 4/5 into decimal

@ 0.5 () 0.4 © 08 @ 06
30 B —— I & =% £1/30 degree is equal to radians
@@ n3 (b) /6 © no d 4

RrEIege # 3ude — & faw fRar sar F/Theodolite is used for:
(2) 8fasT Jur Feaew Sio & HTY=T/Measuring horizontal and vertical angles
(b) AT AT kel FT fEGA-fALr Fe1/Guiding airships and rockets

(c) o g W Rra aEG I <@/ Viewing an object at long distances

(d) gTH TF o7 AEI/None of these

SEREHT —————— & v sgaa v siaarer 3uaor §

Gyroscope is an instrument used for:
(a) delHATI/Levelling

(b) IO F HI9eT/measuring angles
(c) 3NHACT & FATY/ measuring offsets
(d) TGIEAT TAT Uehel & TG-S FRV/guiding air ships & rockets

HR URT e, S & STHRON T T & A ggFT A& BT ST wewen, it
Eddy current damping cannot be used for moving iron instruments because
(a) 39T A IHHR ¢/ The size of the instrument will increase
(b) X URT EIT TG BT AIe & AIHA F Torh
Eddy currents will pass through the iron, thereby causing loss.
(©) 39 30T gd HETE WY goF f uRuf fFeuer & sifwede s sk
safeT 3O & AfST o
The presence of a permanent magnet required for such purpose would offset the deflection and
hence the reading of the instruments.

(d) ﬂ'ﬂaﬂ' H T &7 FE/None of the above
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T aIv gHETeS FHEOT F oy AT ———— B
The value of ‘y’ for the given simultaneous equation is
5X+H3Y =14
2X+7Y =123
(a) 29/87 (b) 52/87 (c) 8729 (dy 52/92

ador — & g@Rareh & aRgear &

Creeping is the phenomenon which occurs in

(a) dlecHIEY Voltmeter (b)  dlcHRY/ Wattmeter
(c) FSIATHY energy meter (d) UHCYammeter

uRd a, b AT ¢ W IFA A DAIT F STFA fs(s—a)(s—b)(s—c) G@RT AT AT &, T
PO - - ; -

Area of a triangle having sides a, b and ¢ is given by +/s(s—a)(s—b)(s—c) where S is equal to
(a) atbtc (b) axbxc (c) 1/3(atb+c) (dy 1/2(atb+c)

ey Fotardr & B & Reda arat w ar g Ra e o §
Two holes are drilled in the disc of an energy meter, on the opposite sides of the disc,
(@) G O & AT B3 & aR & 77 5 8

To reduce the weight of the disc for easy rotation
(b) 3-1R'€I?-l' ﬁ-’iﬁ?f W R{Eqer 7 g & %?;I,'/To eliminate creeping on no Ioéd
(c) 3FT Haaa & fAw/For proper ventilation
(d) TI&TT ik s & AU/ To increase the deflection torque

URE ‘2’ ¥ IFT TH TAIRS AT FT SaBe/Area of an equilateral triangle with side ‘a’
(@) ~/3/4a (b) 3 /222 (c)  +3/6a (d) +3a

& AT B U el F8ell F 3USOT H 3TAT HAT ST B
A moving coil instrument can be used to measure

(a) T&=t 3-1'@%[ JeATadl ¥RT/Low frequency alternating current
(b) 3=T9U ﬁﬁ%—f YcdTaar eRT/High frequency alternating current
(c) 9cTaT YRI/Direct current

(d) SHT FUr T ai/DC & AC both
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50.

51.

92.

53.

54.

55.

0.03 " 0.8 ¥ fasnfara &{1/Divide 0.03 by 0.8
(a) 0.266 (b) 3.75 )  0.0375 ) 038

ﬁ@mﬂﬁawﬁaﬁm—_——$mﬁwﬁammﬁl

Electrostatic instruments are most commonly used as :-

(a) UHICYammeter (b) dlecHcvoltmeter
(c) dic #Hrel/watt meter (d  39dFT @/all of the above

HAURE FAHIOT #/In equilateral triangle,
(a) 2 T ST §l/2anglesareequal (b)) 2 UIRd SRTET F1/2 sides are equal
(c) 3 FIVT SR §l/3 anglesareequal  (d)  (a) AT (b) Eil/both (a) and (b)

T IRT HAIEY A HFHURITTI ——— & & & ygad fr a3

The Ferranti mercury motor meter is most commonly used as:

(a) dfc-geT #HIeT/watt- hour meter

(b) TreitaTe-ger #AeTkilowatt — hour meter
(c) UR-Eer m/ampere — hour meter

(d) 39Fd 7 U o Fdinone of the above

ATIR & 3T ——— & AT R Sar §1/Megger is used for

(@ fdr aRTY & et gfoRT &1 9ETOT e/ Testing the insulation resistance of a circuit

(b)) W A F HH F T FATT FA

Measuring the resistance of the order of mega ohms

(c) dlecdl JUT YRT ST IALTUT Fa1/Testing the voltage and current
(d) (a) TUT (b) E=I/Both (a) and (b)

TH g HEX ST —— ¥7 He §/One cubic meter is approximately
cubic feet
(a) 25.4 ®) 29.0 © 37.0 d 110

11
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56.

57.

58.

.

60.

Ush 9Rad! IR dcd/A variable manipulation element
() AfRTasr fsuea & v d@a & 9REras Har £/Manipulates the signal to

perform the intended task

(b) TS HOF IUIFT W A 33C-9C Hehell I IRATId FRT &/ Converts the output

signals in to a more suitable variable

(c) HIY 9T FAEIH H FAT Yo FAT 8/ Receives energy from the measured medium

(d) ITH F HIS TR/ none of the these

0.86 mm + 0.02 mm =
(a) 46 b 42 ' (c) 43 (d 44

TS 3T TEIfddcd/A data presentation element

() Th ded & q{-ﬁ' H greT FAIRA &ar §/Transmits data from one element to the other
(b) ﬁﬂm AT g/Performs translation functions

(¢) Hehd T URATelT FIAT &/ Manipulates the signal

(d) SAH A IS FAE/None of these

UF ged H IR 66 mm F1 FHFT s ——— P/Circumference of a circle is 66 mm.
Find its diameter
(a 21 mm (b) 42 mm (¢) 33mm (d 11 mm

qf¥ergar §/Precision is the
(a) UG HT 330/ Degree of exactness
(b) AR & &3 ATGT & &g Al T AFear

Closeness of agreement among a number of consecutive measurements

(c) TH AT T W H HG AW Yiafehar @y it ear

Ability to respond to true value of a measured variable

(d) ZAH ¥ IS A8/ None of these
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